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Overview (1)
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Overview (2)
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MAIRAE (1)

big
large
small
long
short
old
young
hot
cold
cheap
easy
great
etc.

bigger
larger
smaller
longer
shorter
older
younger
hotter
colder
cheaper
easier
greater
etc.

biggest
largest
smallest
longest
shortest
oldest
youngest
hottest
coldest
cheapest
easiest
greatest
etc.




RAIZAE (2)

beautiful more beautiful
careful more careful
complicated more complicated
difficult more difficult
exciting more exciting
expensive more expensive
famous more famous
important more important
interesting more interesting
popular more popular
useful more useful

etc. etc.

most beautiful

most careful
most complicated

most difficult
most exciting

most expensive
most famous
most important
most interesting
most popular

most useful
etc.
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good / well

bad /ill

many / much

little

far @D
far @
late D
late 2
old D
old @

better
worse
more
less
farther
further
later
latter
older
elder

best
worst
most
least
farthest
furthest
latest
last
oldest
eldest
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Ken is tall. A ]

Yuta is naughty.

= Ken is as tall as she (is).
= Ken 1s as tall as her.
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= Yuta is as naughty as his brother (is).

['ve found math interesting. (FFzr»rbL LHsVWYE E

-

= ['ve found math as interesting as chess.
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Nanaka runs fast. [FF 1T AR,
= Nanaka runs as fast as he (does).
— Nanaka runs as fast as him.
[ FF AR EF L L WEAE N,
Nanaka can sing well. [ FF A 1xdkH ) F v, |
= Nanaka can sing as well as her brother (can).
o
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Yuta is a naughty student. = Z 13 & A~ |
= Yuta is as naughty a student as his brother (is).
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Ken has many books.
(7 AR EF > TWh, |
= Ken has as many books as she (does).
= Ken has as many books as her.
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Ken 1s as tall as her.

(7 V3B L YR L LW G W,
= Ken is not as [s ] tall as her.
(7 LT R G v,

Yuta is as naughty as his brother (is).
(2 Y13 HFYEILL LWa s, |
= Yuta is not as [so] naughty as his brother (is).
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Nanaka runs as fast as him.
[ F A LFEI U SWEL R,
= Nanaka does not run as [so] fast as him.
[ FF AT AL e,

Nanaka can sing as well as her brother.
[ FF AR EE L bWEFICTHH) 2 TE S, |

= Nanaka cannot sing as [so] well as her brother

N (can).
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Ken has as many books as her.
7 IR L EFI L WD D)REF->Twb, |
= Ken does not have as [so] many books as her.
[ B LIZ AR EF > T v, |

Yuta is as naughty a student as his brother (is).
(2 7 13H YR L L uwWa Ak, |

= Yuta is not as [so] naughty a student as his brother (is).
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Ken is tall. KAV AR S A N A

= Ken is taller than I (am).

— Ken 1s taller than me.
R E ) EH GV,

Yuta is naughty. (2 713 &a 15, |
= Yuta is naughtier than his brother (is).

['ve found math interesting. (B ZLrBE LAWY E S ]
= ['ve found math more interesting than chess.
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Nanaka runs fast.
[ FF AL AR N,
= Nanaka runs faster than her brother (does).

Nanaka can sing well.
[ FFHI13FKkHY ) F v, |
= Nanaka can sing better than her brother (can).
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Ken has many books. (7 3 S ADAREE S TWE, |

= Ken has more books than his brother (does).

Yuta 1s a naughty student.
(2 713 & A, |

= Yuta is a naughtier student than his brother (is).
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<in + %&H - %P7> e.g. in the class, in Japan

<of + Bl ALY e.g. of all the students, of all the
boys, of all the books, of all
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James is the tallest. [Jamesligc b H 2 5 v, |

James 1s the tallest of all the students.

[JameslIAEEROF TRIFVH V. |
Lexus 1s the most expensive of all Japanese car
brands.
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Nanaka runs (the) fastest.
Nanaka runs the fastest in the class.

Nanaka runs the fastest of all the students.
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Kate Winslet 1s the best actress in the world.

My dad handed me the most amazing gift for my
birthday.

[ have the most friends in my school.
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